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3. 

7 

6. 

Trainee Name.. 

5. 

Sign. Invigilator.. 
Note- All questions are compulsory. 

Trade Theory 
Sign. Examiner... 

a) T 

Read and attempt all questions carefully. 

c) dlT 

1. AR* AR HeT ( Golden hour ) 5T Haf 

a) 50 fe-R 

Question will be treated as wrong if answer is not clear. 

c) at 'A' 
4. "PPE' aT qUI HY 

SECTION-A (TRADE THEORY) 

a) T fafy 

a) 48 3T 

INTERINAL TEST2 (IT2) - DECEMBER 2023 

/20 

c) ferràrr fafu 

a) 3.00 mm 

c) 3.50 mm 

a) Personal Parfect eqjuipment 

bPersonal Protective equipmet 
c) Personal Parfect effect 

Employability Skill 

b) 40 fez 
d) 60 f44 

d) alT 

DEORIA PRIVATE ITI 

FITTER 1" YEAR SHIFT-1 

b) qf B' 
d) af C: 

b) 32 $ c) 24 54 d) 6$4 

b)3.175 mm 
d) 25.40 mm 

9 

Shift-. 

/20 WCS 

a) FuAHI3S AefE 
b) 3s Tt 

a) 4grS M 

a) aISA 

a) fo 3TAR A 

/20 

a) b) 316 Bt 

a) l fRIM 

a) fT b) ufT c) f|T d) afrst 
13. fAT HH- Í aISH AE-3UIGT (Mass 

c) H15eG 

Roll No............ 

ED 

b) YISY ASH 

b) a 

0453 

b) hr4 f}H 

/20 



a) 3H67 q 2 kg t 10 kg �% Blq 
b) 3H+ tugT ÁI Hs 600 mm 900 mm att 

19, HT t yahgt fes fa AU 

a) i 

21. fah fu aT T ET 
a) 13rS 0A 

c) a sit b ai 

a) 10 mm t 25 mm 
c) 16 mm t 32 mm 

a) 8 

a)10 b) 8 

a) fr 

c) a sitt b ai 

d) IE 314 

b) 3TT a 

c)14 

b) 8 mm t 32 mm 

d) 6mm t 32 mm 

bjfur 

d) 10 

27. fan FÀZalT ufter 
a) ygtaT 

d) 6 

d) 3iyg3E H 

b) fe 

b) BIeZ 
T 

c) 31642 SIZAU 

a) 642 SIZAI 

a) FF41 

a) 50 ft. -75 t. 
c) 60 #4. � 100 4. 

a) s t 

a) 15 - 30 (mm) 
c)10 � 20 (mm) 

38. fauft 

a) vetz fatT 

a) 344chT hU 

a) faf�n atà 

a) furnitures 

b) fhfr ZIT 

c) furniturez 

b) ftr e 
d) viarts 

AHTT (Oil ways) a1c T 

b) 75 f. - 90 T. 

SECTION-B (EMPLOLYABILITY SKILLS) 

c) Monitor 

b) J6-32 (mm) 
d) 12- 15 (mm) 

41. The plural of the word Furniture..... 

Furniture hT A�aA, 
b) furnituries 

wfurniture 
42, Which one is a brain of computer? 

b) Keyboard 
d) Hard Disk 



5) F 

Which one is Not a vowel? 

a) a 

a) 10th 

44. Which one is a cardinal number? 

a) Your house is beautiful 

45. Which one is an exul1nntry sentncer 

b) lt is a beautiful house 

c) Is it a beautiful house?. 

what a beautiful house it is! 

a) And 

c) But 

46. Which one not a Comjunction? 

a) itself 

b) X 

himself 

c)e 

47. Fill in the blank with Proper pronoun �I made 
this cake. 

a) Walk TI 

c) Red iIT I 

af Snapchat 

48. Which one is the namng word? 

c) Indeed 

Google 

b) 
L on 

MS office? 

49. Which of these is not an onlin� iob search 

platform? 

a) Alt+S 

d) i 

b), vÍurself. 
) myself 

c) Ctrl+N 

50. Which one is a Web browser? 

bo Chennai 
d) slowly ft ft 

b) LinkedIn 

d)) V 

d) Glassdoor 

Ib) Hotmail 

c) Outlook Express 
51. Which shortcut is usedl to save a word fille in 

d) Facebook 

d) Ctrl+B 

52. Which device is used to connect telephone 
lines to a PC? 

a) Monitor 

Modem 

a) Margin 
c) Width 

T.n wref trrerfiartnt, tnetert is pnea 'ehg1n 

c) Lotus notes 

54. Which one is a social networking site? 

is called a.... 

ht.. 
m, allahel 

b) Printer 

55. In Excel, the intersection of a row and column 

c) Worksheet 

d) Modem 

Excel fheft (if) 3fr sÍr (AE) $rNA 

b) Landscape 
Portrait 

Lviana 
d) Outlook express 

-eó Wi-Fi 

56. Which one is Not an article? 

c) Bluetooth 

blCell 
d) Square 

c) Mumbai 

a) a b) the 

57. Which one is the disadvantage of social 
networking._ites2.. 

Yn 

a) Instant communication q{ AId0d 
b) Access to information 4ht TA YEGHT 

r fey faqurt 

d) an 

c) online marketing for business 
Make addictive q¥t 34TGT 3HT 

58._A wireless technologv that connects a <ancop 
to the internet is called.... 

b) Source network 

d) Desktop 
59, Which one of the following is an Actions 

word? fAafrfua I Action word ?. 
Já) Sleep b) Agra c) Table d) Car 
60. Which of the following is not a naming word? 

b Play 
d) Lucknow 

a) Uttar Pradesh 



61. 30, 36, 48 3i 60 5T L.C.M aT 

62. 

a) 60 

66. 

1 

63 33 

2 8 

68. 

a) 2 
14 

73. 

a) 1 

a)_96 

6s. 0.625 

X 12 

64. (6+2) (9-5) (2+1) = 

5 

3 4 

a) 0.1 

a 18 

24 

16 

12 

18 

0.125 

a) 

67. T forr-

12 

a) 0 

a) 112 
24 

SECTION- C (WCS) 

69. 0.1 x 0.01 thT HH AT. 

b) 1152 
71. 0.025 x 5.25 =? 

787 

b) 120 

24 

D) 2 )2? 
b) 69 

HIATI 

b) 6 

72. TUTT ht- 0.6x0.6 x 0.6=? 

6 

b) 0.215 

2 

5 

3 

4 5 

b) 0.01 

1 

2 

20 

24 

b) 

a)0.216 b) 0.0216 c) 2.16 

12 

3 

b) 4 

c) 240 

4 

c) 1 

778 

75.7à 5tT. 

68 

a) 1.3125 b)13125 C8:13125 d}0.65625 

x 18-67T 

13-[-2-{305) + (4/2)}1 

24 

3 c); 

c) 36 

c) 0.521 

c) 4 3 

12 

o.001 

c) 

o 8 

c) & 

)52 
24 

12 

c) 136 d) 152 

768 

68 

d) 720 

12 

i) 

"¥y 26 

d) 0.I52 

d) 15 

d) 12 
24 

d) 

12 

9 

d) 0216 

68 

a) 

a) 6.5 
1 

3 
a) I 
3 

168 

78.xx7× 

a) 191.53102 

a) A_ 

a) B 

c) 391.53 1 02 

1 

2 

a) 4 H 

a) HB 

a) 101 

a) HB 

a) S B 

b) 7.75 

a) 4 H 

1 
3 

11 

LbYA, 

79. 5.7349, 0.09, 2.146, 0.5, 66, 109.003, 8.05712 

165 

98 

80. ¿T HGTTd AT TH5T 4107 4ta 34e6T T,4. 37 

b) HB 

b) 107 

\bYsH 

b) B 

81. 4HorArATThag T qfidA4 

a) 7 H b) 6 B Loy3 H d) H 

c) Ao 

c) 8.75 

c) 2 
14 

6 

c) 4H 

c) B 

c) 7H 

c) 

SECTION- D (ENGINEERING DRAWING 

3THTT 210 x 297 fuufr. Hrq aT 

c) B 

=? a . 

b) 3 H c) 4 B \ÍB 

c) 7 B 

162 

b) 139.51302 
d) 149.51302 

c) 3Eafur 

98 

d) A 

d) 8.12 

d) 7B 

d) 

d) HI 

d) 6B 

LyB 

d) 8 H 

ey2 H 

c) aiGI 

9% 

***ALL THE BEST*** 

d) 185 

d) tHr4T 

2: 
42 

fÀTG. 

82. IS tatNTeaT 
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